
Funzioni	
  proteine	
  di	
  membrana	
  





Le	
  integrine	
  svolgono	
  un	
  ruolo	
  importante	
  nella	
  trasmissione	
  dei	
  segnali	
  tra	
  le	
  
cellule	
  

Ancoraggio	
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molecola	
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Le	
  proteine	
  possono	
  essere	
  rece7ori	
  





Le	
  giunzioni	
  ancoran=:	
  
desmosomi	
  e	
  giunzioni	
  aderen=	
  

caderine	
  



Le	
  giunzioni	
  serrate	
  (es.	
  intes=no	
  e	
  capillari	
  cerebrali)	
  

Le	
   giunzioni	
   serrate	
   o	
   stre3e:	
  
aree	
   di	
   connessione	
   tra	
   le	
  
membrane	
   cellulari	
   adiacen=,	
  
così	
  stre7e	
  che	
  gli	
  spazi	
   intorno	
  
a l l a	
   c e l l u l a	
   s c ompa i ono	
  
completamente.	
   In	
   ques=	
   pun=	
  
può	
  essere	
  impedito	
  il	
  passaggio	
  
di	
  alcune	
  sostanze	
  



Le	
  giunzioni	
  comunican=	
  (es.	
  cellule	
  nervose	
  e	
  muscolari)	
  

Le	
   giunzioni	
   comunican;,	
   contengono	
   canali	
   che	
   me7ono	
   in	
   comunicazione	
   il	
   citoplasma	
  
delle	
  cellule	
  adiacen=	
  (sono	
  compos=	
  da	
  connessina).	
  





Traspor=	
  di	
  membrana	
  



Trasporto	
  di	
  solu;	
  a3raverso	
  le	
  membrane	
  
	
  

•  La	
  cellula	
  ha	
  bisogno	
  di	
  essere	
  seleLva	
  ma	
  efficiente	
  quando	
  
importa	
  o	
  esporta	
  metaboli=	
  e	
  ioni.	
  

•  Il	
   “traffico”	
   di	
   piccole	
   molecole	
   è	
   mediato	
   da	
   proteine	
  
transmembrana	
   che	
   comprendono	
   pompe,	
   trasportatori	
  
(“carriers”)	
  e	
  canali	
  ionici.	
  

•  Meccanismi:	
   diffusione	
   semplice,	
   diffusione	
   facilitata	
  
(trasporto	
  passivo)	
  e	
  trasporto	
  aLvo.	
  

•  Le	
   forze	
   motrici	
   includono	
   gradien=	
   di	
   concentrazione,	
  
gradien=	
  di	
  potenziale	
  ele7rico	
  e	
  accoppiamento	
  con	
  reazioni	
  
chimiche	
  esoergoniche	
  (ad	
  es.	
   idrolisi	
  dell’ATP,	
  o	
  trasporto	
  di	
  
una	
  sostanza	
  a	
  favore	
  di	
  gradiente)	
  



Trasposto	
  passivo	
  e	
  a7vo	
  

gradiente	
  
di	
  

concentrazione	
  

gradiente	
  
di	
  

concentrazione	
  

Il	
   trasporto	
   passivo	
   non	
  
richiede	
  dispendio	
  di	
  energia	
  
metabolica.	
   Avviene	
   per	
  
d iffu s i one	
   s emp l i c e	
   o	
  
facilitata.	
  

Il	
   trasporto	
   aLvo	
   avviene	
  
c o n t r o 	
   g r a d i e n t e 	
   d i	
  
concentrazione.	
  
Il	
   trasporto	
  può	
  essere	
  dire3o,	
  
(accoppiato	
   all’ATP	
   in	
   modo	
  
d i re7o )	
   o	
   i nd i re3o	
   ( un	
  
gradiente	
   di	
   concentrazione	
  
fornisce	
   l ’energ ia	
   per	
   i l	
  
c o t r a s po r t o	
   d i	
   u n ’ a l t r a	
  
sostanza)	
  
	
  



Diffusione	
  semplice	
  



	
  
1.  Il	
   soluto	
   deve	
   lasciare	
   l’ambiente	
  

acquoso	
   da	
   una	
   parte	
   ed	
   entrare	
  
nella	
  membrana;	
  

2.  Il	
   soluto	
   deve	
   a7raversare	
   la	
  
membrana;	
  

3.  Il	
  soluto	
  deve	
  lasciare	
  la	
  membrana	
  
ed	
   uscire	
   in	
   un	
   nuovo	
   ambiente	
  
acquoso	
  dall’altra	
  parte.	
  

	
  

Il	
   trasporto	
   prosegue	
   fino	
   a	
   quando	
  
n o n 	
   v i e n e 	
   r a g g i u n t a 	
   u n a	
  
concentrazione	
  di	
  equilibrio.	
  

Diffusione	
  semplice	
  



Osmosi	
  
movimen=	
  neL	
  di	
  acqua	
  a7raverso	
  la	
  membrana	
  



pressione	
   che	
   deve	
   essere	
  
esercitata	
   sul	
   lato	
   della	
  
membrana	
   seleLvamente	
  
permeabile	
   contenente	
   la	
  
concentrazione	
   maggiore	
  
di	
   soluto	
   per	
   impedire	
   la	
  
diffusione	
  di	
  acqua	
  dal	
   lato	
  
c o n t e n e n t e	
   m i n o r e	
  
concentrazione	
  di	
  soluto.	
  
	
  

Pressione	
  osmo;ca	
  





Effe7	
  della	
  pressione	
  osmo;ca	
  



Effe7	
  della	
  
pressione	
  
osmo;ca	
  



Permeabilità	
  dei	
  doppi	
  stra;	
  fosfolipidici	
  
	
  Gas	
   Molecole	
  

Idrofobiche	
  

Piccole	
  
molecole	
  
polari	
  

Grandi	
  molecole	
  
polari	
  

Ioni	
  carichi	
  

CO2	
  

O2	
   Benzene	
  

H2O	
  

Etanolo	
   Glucosio	
   Aminoacidi	
  

H+	
   Cl-­‐	
  

Na+	
  
Ca2+	
  

Ioni	
  



proteina	
  canale	
   proteina	
  carrier	
  

Le	
  proteine	
  di	
  trasporto	
  	
  

gradiente	
  
di	
  

concentrazione	
  

ciascuna	
  proteina	
  è	
  specifica	
  per	
  un	
  =po	
  di	
  ione,	
  molecola	
  o	
  gruppo	
  di	
  sostanze	
  

poro	
  



Diffusione	
  facilitata	
  

Intervengono	
   proteine	
   di	
   membrana	
   che	
  
perme7ono	
   il	
   trasferimento	
   ne7o	
   di	
   un	
  
determinato	
   soluto.	
   Il	
   movimento	
   ne7o	
  
a v v i e n e	
   s e c o ndo	
   g r a d i e n t e	
   d i	
  
concentrazione.	
  
	
  



Il	
  Trasportatore	
  del	
  glucosio	
  1	
  (GLUT	
  1)	
  
trasporta	
   glucosio	
   all’interno	
   dei	
  
globuli	
  rossi.	
  
	
  
La	
  concentrazione	
  di	
  glucosio	
  è	
  più	
  alta	
  
nel	
   plasma	
   per	
   cui	
   il	
   glucosio	
   diffonde	
  
secondo	
   g rad ien te	
   a l l ’ i n te rno	
  
dell’eritrocita.	
  
	
  
Il	
   glucosio	
   all’interno	
   dell’eritrocita	
  
v i e n e 	
   m a n t e n u t o 	
   a d 	
   u n a	
  
concentrazione	
   più	
   bassa	
   grazie	
   a	
   una	
  
conversione	
   in	
   glucosio	
   fosfato	
   (con	
  
conseguente	
  consumo	
  di	
  ATP).	
  

TRASPORTO	
  DEL	
  GLUCOSIO	
  NEGLI	
  ERITROCITI	
  

glucosio	
   Glucosio-­‐6-­‐P	
  



Trasposto	
  a7vo	
  

gradiente	
  
di	
  

concentrazione	
  

Un	
  sistema	
  di	
  trasporto	
  aLvo	
  può	
  essere	
  dire3o,	
  cioè	
  può	
  essere	
  accoppiato	
  all’ATP	
  in	
  
modo	
  dire7o,	
  o	
  indire3o,	
   in	
  cui	
  un	
  gradiente	
  di	
  concentrazione	
  fornisce	
  l’energia	
  per	
  il	
  
cotrasporto	
  di	
  un’altra	
  sostanza	
  



Per	
  far	
  fronte	
  al	
  trasporto	
  aLvo	
  la	
  cellula	
  ha	
  bisogno	
  di	
  energia.	
  I	
  nucleo=di-­‐trifosfato	
  (in	
  
par=colare	
  l’adenosin-­‐trifosfato	
  o	
  ATP)	
  forniscono	
  l’energia.	
  

La	
  scissione	
  di	
  un	
  legame	
  fosfato-­‐fosfato	
  può	
  fornire	
  fino	
  a	
  11-­‐13	
  kcal/mole	
  





Potenziale	
  di	
  membrana	
  a	
  riposo	
  

Concentrazione	
  potassio	
  (K+)	
  20	
  volte	
  maggiore	
  all’interno	
  della	
  cellula	
  rispe7o	
  
all’ambiente	
  extracellulare	
  
	
  
Concentrazione	
  sodio	
  (Na+)	
  8-­‐10	
  volte	
  maggiore	
  all’esterno	
  della	
  cellula	
  rispe7o	
  
all’interno	
  

Presenza	
   di	
   pompe	
   che	
   mantengono	
   costante	
   questa	
   differenza	
   insieme	
   ad	
  
azione	
   di	
   canali	
   che	
   favoriscono	
   passaggio	
   di	
   ioni	
   (Na+,	
   K+	
   e	
   Cl-­‐)	
   secondo	
  
concentrazione	
  

I	
  canali	
  del	
  K+	
  sono	
  quasi	
  sempre	
  aper=,	
  quelli	
  del	
  Na+	
  quasi	
  sempre	
  chiusi	
  

Potenziale	
  ele3rico	
  transmembrana	
  di	
  -­‐70	
  	
  mV	
  



Membrana	
   impermeabile	
   a	
  
tuL	
   gli	
   ioni,	
   assenza	
   di	
  
differenza	
  di	
  carica	
  fra	
  le	
  due	
  
superfici	
  

Potenziometro	
  =	
  0	
   Potenziometro	
  =	
  -­‐60mV	
  

Membrana	
   permeabile	
   solo	
  
agli	
   ioni	
   K+;	
   eccesso	
   di	
  
c a r i c h e 	
   n e g a = v e	
  
nell'ambiente	
   intracellulare	
  
(citosol)	
  

Membrana	
   permeabile	
   solo	
  
agli	
   ioni	
   Na+,	
   eccesso	
   di	
  
c a r i c h e 	
   p o s i = v e	
  
nell'ambiente	
   intracellulare	
  
(citosol)	
  
.	
  

Potenziometro	
  =	
  +60mV	
  



Trasporto	
  a7vo:	
  la	
  pompa	
  sodio-­‐potassio	
  ATPasi	
  
dipendente	
  (polarizzazione	
  della	
  membrana)	
  

Si	
  viene	
  a	
  stabilire	
  a7raverso	
  la	
  membrana	
  un	
  potenziale	
  ele3rico	
  (gradiente	
  cos=tuito	
  da	
  
ioni),	
  pertanto	
  si	
  dice	
  che	
  la	
  membrana	
  è	
  polarizzata.	
  	
  
La	
  membrana	
  sarà	
  carica	
  nega=vamente	
  all’interno	
  rispe7o	
  all’esterno.	
  
La	
   pompa	
   sodio-­‐potassio	
   aiuta	
   a	
   mantenere	
   una	
   separazione	
   di	
   cariche	
   a7raverso	
   la	
  
membrana	
  che	
  viene	
  definita	
  potenziale	
  di	
  membrana	
  (es.	
  blocco	
  polispermia).	
  	
  



Trasportatore	
  a7vo	
  Na+/glucosio	
  

Il	
   trasporto	
   aLvo	
   del	
   glucosio	
   u=lizza	
   il	
   gradiente	
  Na+	
   prodo7o	
   dalla	
   pompa	
   sodio-­‐potassio	
  
come	
  fonte	
  di	
  energia	
  per	
  spostare	
  il	
  glucosio	
  verso	
  l’interno.	
  Il	
  sodio	
  e	
  il	
  glucosio	
  si	
  legano	
  alla	
  
proteina	
   trasportatrice	
   che	
   perme7e	
   al	
   sodio	
   di	
   entrare	
   nella	
   cellula	
   secondo	
   gradiente	
  
recuperando	
  energia	
  e	
   sfru7andola	
  per	
  portare	
  glucosio	
  all’interno.	
  Entrambe	
   le	
  molecole	
   si	
  
muovono	
  nella	
  stessa	
  direzione	
  (simporto)	
  
	
  



Trasporto	
  glucosio	
  nelle	
  cellule	
  intes;nali	
  e	
  renali	
  

Concentrazione	
  di	
  glucosio	
  


